Q.1 Erefler Gebareif arermer w@reif arerTd BUide Boiet A1 faur 3o,
SR WRYY UT3 TS R UTUATE SelTS JIEUIR e

Ans W
X< 2. WRQT UIHH USTAT 0Tl HRAT WY, T3
X 3. UTugTElt ST BT IS d Sicel MUY UThH Usd.
X 4R UIHA TSI AT GEbles s oA Hid 3.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680304594
6306801184927
6306801184925
6306801184926
6306801184928
Answered

1

2

Q.2 Frefter 3msmmeif aream faeaelf arerrg BuiaR Sae A fauT e,
e T 9.

Ans .
X 2. G I AP
X 3. TeH WE AT g4 B
X 4. R @ S ATEL

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680304593
6306801184922
6306801184924
6306801184921
6306801184923
Answered

1

2

Q.3 'BeRbUS MBEOr AT ATRATET ATRITT ITANT STl TTeileTded! A7 faum 3iesar.

Ans o
X 2. BRbYS BT T 1T 3T

X 3. ST AT HeATd BabUsl  HdATd.

X 4. SFBUS BT ATITATET TBR 37T,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680304611
6306801184995
6306801184994
6306801184993
6306801184996
Answered

1

2




Q4 Freflel e AT of 3o,

i A= ufdeg gom
Ans X 1 qIfie
X 2. ulfere
X 3. mfa®
il
Question Type : MCQ
Question ID : 630680304613
Option 11D : 6306801185003
Option 2 ID : 6306801185004
Option 3 1D : 6306801185002
Option 4 1D : 6306801185001
Status : Answered
Chosen Option : 4
Marks : 2
Q5 cogmedt 3’ } Ead Hon fofger?
Ans 5 1 g miea
X 2. g e
W
X 4. TR e
Question Type : MCQ
Question ID : 630680304616
Option 11D : 6306801185013
Option 2 1D : 6306801185016
Option 3 ID : 6306801185014
Option 4 ID : 6306801185015
Status : Answered
Chosen Option : 3
Marks : 2
Q.6 wrefter areRrERTEr A 2f 3.
ST T
Ans 5 1. @y 2T dieror
o
25 3. 3G g
X 4. AR gror
Question Type : MCQ
Question ID : 630680304609
Option 11D : 6306801184987
Option 2 1D : 6306801184986
Option 3 ID : 6306801184985
Option 4 1D : 6306801184988
Status : Answered
Chosen Option : 4
Marks : 0




Q.7 <fter YT a1 2T aTRITd 3TN ST TTcieTid) A1 faur .
Ans o

25 2. ST SSAT AT @

X 3. IRTET &M B T ST et ShTel.

X 4. QU AR T 8.

Question Type :
Question ID :

: 6306801184989
: 6306801184991
Option 31D :
Option 4 ID :
Status :

Chosen Option :
Marks :

Option 11D
Option 2 1D

McQ
630680304610

6306801184992
6306801184990
Answered

1

2

Q.8 @it oian arg  of 3itea.
FER A A T Mt HTAr

Ans X 1. O BR FErT AR,
X 2. faera gameit feardt
X 3. 7l 387159 0T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680304608
6306801184983
6306801184984
6306801184981
6306801184982
Answered

4

2

Q.9 GIRATE! € PR BT 3Me?
Ans X 1 T TEwdEY

W
X 3. TUIMIS 918

X 4. pgATEd RIS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680304617
6306801185019
6306801185017
6306801185018
6306801185020
Answered

2

2




Q.10 Frefter aTerAT=IT bR 3i15ET.

HY UgTe 357 I P g AR a7 B
Ans o
X 2. Mg
X 3. ddareffarrr
X 4. BaaarRT
Question Type : MCQ
Question ID : 630680304595
Option 11D : 6306801184931
Option 2 1D : 6306801184930
Option 3 1D : 6306801184932
Option 4 1D : 6306801184929
Status : Answered
Chosen Option : 1
Marks : 2
Q11 relie 2regran fawearelf 2reg iesar.
feifea
Ans X1 qifde
X 2. ®fd®
X 3. Hifas
L
Question Type : MCQ
Question ID : 630680304604
Option 11D : 6306801184968
Option 2 ID : 6306801184967
Option 3 1D : 6306801184966
Option 4 ID : 6306801184965
Status : Answered
Chosen Option : 4
Marks : 2
Q.12 grdien Pie HIOY AT AT AT IUANT STeiel TTelterih! A1 e 3.
Ans X 1. BIdIET BIe bed TradTd fsTd T8
X 2. BIAET PIE HHT S8R Bl padrd
L
X 4. TR BIC BT el areid ATe.
Question Type : MCQ
Question ID : 630680304612
Option 11D : 6306801184997
Option 2 1D : 6306801184999
Option 3 1D : 6306801184998
Option 4 1D : 6306801185000
Status : Answered
Chosen Option : 3
Marks : 2




Q.13 Frefier 2regren fawrarelf 2reg sitesar.

CER
Ans X 1 qrper
o
X 3.
X 4. faar
Question Type : MCQ
Question ID : 630680304603
Option 1 1D : 6306801184961
Option 2 ID : 6306801184964
Option 3 1D : 6306801184963
Option 4 1D : 6306801184962
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 Frefter areraTdier TANT 3BT
TN MEH AR
Ans "
X 2. wHUT yEn
25 3. QRT0T BHUT
X 4. wdd T
Question Type : MCQ
Question ID : 630680304598
Option 11D : 6306801184943
Option 2 ID : 6306801184944
Option 3 1D : 6306801184941
Option 4 ID : 6306801184942
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 Frclier eregrem AT of e,
QI IUTAT HRUTRI.
Ans 1S9
X 2.9z
X 3. WETATdT
L
Question Type : MCQ
Question ID : 630680304614
Option 1 1D : 6306801185008
Option 2 1D : 6306801185005
Option 3 1D : 6306801185006
Option 4 ID : 6306801185007
Status : Answered
Chosen Option : 4
Marks : 2




Q.16 g soarh T ST’ & BIEEA Hoit fAfder?

Ans o
X 2. ferarstt grad
X 3.3 fa weermE
X 4. T ISR
Question Type : MCQ
Question ID : 630680304615
Option 1 1D : 6306801185010
Option 2 ID : 6306801185009
Option 3 ID : 6306801185012
Option 4 ID : 6306801185011
Status : Answered
Chosen Option : 1
Marks : 2
Q17 g arerern AT o W faum e
Ans X 1. 3T VR e BT epTaet! I A
L d
X 3. 3T 35T 37T veafian faefamre Ug .
X 4. 3T HReT 31T T &8l
Question Type : MCQ
Question ID : 630680304597
Option 1 1D : 6306801184939
Option 2 ID : 6306801184940
Option 3 ID : 6306801184937
Option 4 ID : 6306801184938
Status : Answered
Chosen Option : 2
Marks : 2
Q.18 Freiter erearen favmearelf 2reg sitesa.
qle
Ans W
X2 gl
X 3. wrdr
K 4. Rabd
Question Type : MCQ
Question ID : 630680304602
Option 1 1D : 6306801184959
Option 2 ID : 6306801184957
Option 3 ID : 6306801184958
Option 4 ID : 6306801184960
Status : Answered
Chosen Option : 1
Marks : 2




Q.19 Frefter 2regrem GAMTRT 2reg 3.

died
Ans X 1 gied
X 2. poUdr
L
X 4. 9=
Question Type : MCQ
Question ID : 630680304601
Option 11D : 6306801184953
Option 2 ID : 6306801184956
Option 3 ID : 6306801184954
Option 4 ID : 6306801184955
Status : Answered
Chosen Option : 3
Marks : 2
Q.20 Hrcfier 2regTem THTATT 2reg 3Miesa.
ESIC)
LUCEE SR
X 2. fr
il
X 4.T®
Question Type : MCQ
Question ID : 630680304600
Option 11D : 6306801184950
Option 2 1D : 6306801184952
Option 3 1D : 6306801184949
Option 4 1D : 6306801184951
Status : Answered
Chosen Option : 3
Marks : 2
Q.21 refiet woftar A of e
¢ fa it M
Ans X 1, FRTHA PO,
X 2. faemmidt wor,
W
X 4. aréeneft Td HoT.
Question Type : MCQ
Question ID : 630680304607
Option 1 1D : 6306801184980
Option 2 1D : 6306801184979
Option 3 1D : 6306801184978
Option 4 ID : 6306801184977
Status : Answered
Chosen Option : 3
Marks : 2




Q.22 Frefter eregren o 3.

IHYR
Ans X1
X 2.gUR
X 3. RIS
il
Question Type : MCQ
Question ID : 630680304596
Option 1 1D : 6306801184936
Option 2 1D : 6306801184934
Option 3 1D : 6306801184935
Option 4 1D : 6306801184933
Status : Answered
Chosen Option : 4
Marks : 2
Q.23 Hrefier eregTem THRT 35T,
e ™
Ans 5 1 TEY THE
X 2. feq o
X 3. e wAE
o
Question Type : MCQ
Question ID : 630680304606
Option 1 1D : 6306801184974
Option 2 1D : 6306801184973
Option 3 1D : 6306801184976
Option 4 1D : 6306801184975
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 Frefter areraTdieT TANT 3SET.
TR TG 2TRgT ARET STal.
Ans X 1 GO HHUR wET
< 2. FHOT T
W
2 4. QRTOT BHUT
Question Type : MCQ
Question ID : 630680304599
Option 1 1D : 6306801184948
Option 2 1D : 6306801184945
Option 3 1D : 6306801184947
Option 4 ID : 6306801184946
Status : Answered
Chosen Option : 3
Marks : 2




Q.25 Frefier 2regrem YA M.
YU

Ans o
X 2. dhTg IERT

X 3. ggeier I
X 4. Iy gAY

Question Type : MCQ
Question ID : 630680304605
Option 1 1D : 6306801184972
Option 2 1D : 6306801184969
Option 3 1D : 6306801184971
Option 4 1D : 6306801184970
Status : Answered
Chosen Option : 1
Marks : 2

Section : English Language

Q.1 Select the most appropriate synonym of the underlined word.

Travel is the best way we have of rescuing the humanity of places and saving them
from abstraction and ideology.

Ans X 1. Inspiration
X 2. Kink
/5 3. Fact

v

Question Type : MCQ
Question ID : 630680280613
Option 1 1D : 6306801090688
Option 2 ID : 6306801090687
Option 3 ID : 6306801090690
Option 4 ID : 6306801090689
Status : Answered
Chosen Option : 2
Marks : 0




Q.2 Select the most appropriate option to fill in the blank.

The chef passionately, infusing flavours to create delicious food.

Ans X 1.has cooks
/5 2. had been cooked

w
X 4. will cooking

Question Type
Question ID
Option 1 ID

. McQ
: 630680252168
: 630680978653
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Marks :

630680978654
630680978651
630680978652
Answered

3

2

Q.3 Select the most appropriate meaning of the given proverb.

Waste not, want not
Ans X 1. Making best from waste

L
/5 3. Collecting useful things

/X 4. Wasting resources

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252257
630680979009
630680979010
630680979008
630680979007
Answered

2

2

Q.4 Select the most appropriate option to fill in the blank.

The children

Ans X 1. have will running

v

#% 3. has running

25 4. will running

happily, chasing each other in the park.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680274724
6306801067409
6306801067408
6306801067410
6306801067407
Answered

2

2




Q.5 Select the INCORRECTLY spelt word.
Ans X 1. Accomplishment

i
/< 3. Spectacular
X 4. Necessity

Question Type : MCQ
Question ID : 630680252206
Option 1 1D : 630680978804
Option 2 1D : 630680978803
Option 3 1D : 630680978806
Option 4 ID : 630680978805
Status : Answered
Chosen Option : 4
Marks : 0
Q.6 The given sentence has an error. Select the option that rectifies the error.
The tee-shirt are bought in a newly opened showroom yesterday
Ans
/5 2. Newly open showroom
X 3. The tee-shirt were
X 4. newly opening showroom
Question Type : MCQ
Question ID : 630680281018
Option 1 1D : 6306801092307
Option 2 1D : 6306801092309
Option 3 1D : 6306801092308
Option 4 1D : 6306801092310
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 Select the INCORRECTLY spelt word in the following sentence.
Classic works will always be appreciated in all parts of the world by people of different
temperamants and cultures.
Ans X 1. Classic
X 2. Appreciated
/5 3. Cultures
L d
Question Type : MCQ
Question ID : 630680252943
Option 1 1D : 630680981751
Option 2 1D : 630680981752
Option 3 ID : 630680981754
Option 4 1D : 630680981753
Status : Answered
Chosen Option : 4
Marks : 2




Q.8 Identify the option that correctly punctuates the given sentence.

You would not be at all surprised if the conductor eyed you coldly as much as to say

Yes | know that stale old trick Now then off you get.

Ans

< 2. You would not be at all surprised if the conductor eyed you coldly as much as to say,

“Yes, | know that stale old trick, Now then, off you get

< 3. You would not be at all surprised if the conductor eyed you coldly as much as to say.

“Yes, | know that stale old trick. Now then, off you get.”

#5 4. You would not be at all surprised, if the conductor eyed you coldly as much as to say,

“Yes | know that stale old trick now then, off you get.”

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

McQ

630680252283
630680979112
630680979114
630680979113
630680979111

: Answered
Chosen Option :
Marks :

4
0

Q.9 Select the option that expresses the given sentence in passive voice.

Sarah baked the cake.

Ans
/5 2. The cake has baked by Sarah.

/5 3. The cake will baked by Sarah.
/X 4. The cake is going to be baked for Sarah.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252169
630680978658
630680978656
630680978655
630680978657
Answered

1

2




Q.10 Select the most appropriate question tag to fill in the blank.

Let's go for an industrial visit, ?
Ans X 1.could we
i
X 3.dowe
X 4. canwe
Question Type : MCQ
Question ID : 630680252930
Option 1 1D : 630680981702
Option 2 1D : 630680981701
Option 3 1D : 630680981699
Option 4 1D : 630680981700
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 Select the most appropriate ANTONYM of the given word.
Fatigue
Ans X 1. Wear
X 2. Relevant
W
X 4. Revamped
Question Type : MCQ
Question ID : 630680252266
Option 1 1D : 630680979043
Option 2 ID : 630680979045
Option 3 ID : 630680979044
Option 4 ID : 630680979046
Status : Answered
Chosen Option : 3
Marks : 2




Q.12 Parts of the given sentence have been underlined. One of them contains an error. The
underlined parts are given as options with some changes. Select the option that
correctly rectifies the error.

The police are looking at a tall, black man who was seen standing outside the bank
just before the robbery took place.

Ans X 1.juston the robbery took place
/5 2. black man who has seen standing outside the bank

/< 3. The police are looking at a tall, black man which was seen standing outside the bank

v

Question Type : MCQ
Question ID : 630680280759
Option 1 1D : 6306801091273
Option 2 1D : 6306801091271
Option 3 1D : 6306801091274
Option 4 1D : 6306801091272
Status : Answered
Chosen Option : 1
Marks : 0

Q.13 Select the most appropriate preposition to fill in the blank.

Meera must have joined the Indian army then.

Ans
& 2.0n

&5 3. for
5 4. about

Question Type : MCQ
Question ID : 630680252195
Option 1 1D : 630680978761
Option 2 1D : 630680978762
Option 3 ID : 630680978759
Option 4 1D : 630680978760

Status : Answered

Chosen Option : 1

Marks : 2




Q.14 The following sentence has been divided into four segments. Select the segment that

contains a grammatical error.

Ramesh was sorry / at eating sandwiches / during the class / of Ms. Elizabeth.

Ans X 1.during the class
X 2. of Ms. Elizabeth.

v

/X 4. Ramesh was sorry

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252246
630680978965
630680978966
630680978964
630680978963
Answered

3

2

Q.15 Select the most appropriate article to fill in the blank. If no article is required, select

‘No article’.

The idea of university is different in the current era of digitalisation.

Ans
K 2. the
& 3.an

#5 4. No article

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

McQ
630680280595
6306801090615
6306801090617
6306801090616
6306801090618

: Answered
Chosen Option :
Marks :

1
2




Q.16 Select the option that expresses the given sentence in active voice.

The food was being prepared by my uncle

Ans
/5 2. My uncle has prepared the food.

X 3. My uncle prepared the food.
X 4. My uncle will be preparing the food.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252935
630680981720
630680981721
630680981719
630680981722
Answered

1

2

Q.17 Select the most appropriate meaning of the underlined idiom.
My uncle visits his relatives houses once in a blue moon.
Ans X 1.frequently
/< 2. when the moon becomes blue

/< 3. when the sky is blue

v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680280598
6306801090630
6306801090627
6306801090628
6306801090629
Answered

4

2

Q.18 Select the most appropriate option to fill in the blank.

Vivek’s student won ___ contest.

Ans o
5 2. much
X 3. little
X 4.an

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680274728
6306801067423
6306801067426
6306801067425
6306801067424
Answered

1

2




Q.19 Select the most appropriate ANTONYM of the underlined word.

Apparently, it had been made in a hurry and somehow some kerosene got into the

welcome cup.
Ans X 1. critically

w
/5 3. believably
/X 4. Probably
Question Type : MCQ
Question ID : 630680252963
Option 1 1D : 630680981832
Option 2 1D : 630680981833
Option 3 ID : 630680981834
Option 4 ID : 630680981831
Status : Answered
Chosen Option : 4
Marks : 0
Q.20 Select the most appropriate meaning of the given proverb.
The face is the index of the mind.
Ans X 1.The face is not important.
/X 2. There are some actors.
/< 3. There are handsome faces.
L
Question Type : MCQ
Question ID : 630680280601
Option 11D : 6306801090641
Option 2 1D : 6306801090639
Option 3 1D : 6306801090640
Option 4 1D : 6306801090642
Status : Answered
Chosen Option : 4
Marks : 2
Q.21 Select the most appropriate option to fill in the blank.
| have namambs&rad her face I met her.
Ans
X 2. since
/X 3. already
X 4. just now
Question Type : MCQ
Question ID : 630680252959
Option 11D : 630680981815
Option 2 1D : 630680981817
Option 3 ID : 630680981816
Option 4 1D : 630680981818
Status : Answered
Chosen Option : 2
Marks : 0




Q.22 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.

I went out for dinner last night. / Unfortunately, | began to feel ill / while the meal / and

had to go home.
Ans X 1.and had to go home

5 2. Unfortunately, | began to feel ill

< 3.1 went out for dinner last night.

v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680252285
630680979122
630680979120
630680979119
630680979121
Answered

2

0

Q.23 Select the most appropriate option to fill in the blank.

You have seen the new movie, ?
Ans X 1. will you

5 2. aren’t you
/5 3. have you

v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 630680978627

Status :

Chosen Option :

Marks :

Option 4 ID

McQ

630680252162
630680978628
630680978630
630680978629

Answered
4
2




Q.24 Select the most appropriate option to fill in the blank.

There was a garden on
Ans X 1.every

side of the mountain.

& 2.nor
w
X 4.each
Question Type : MCQ
Question ID : 630680252957
Option 1 1D : 630680981808
Option 2 1D : 630680981807
Option 3 1D : 630680981810
Option 4 1D : 630680981809
Status : Answered
Chosen Option : 3
Marks : 2
Q.25 Select the most appropriate punctuation mark to fill in the blank.
Jiya likes to drive Simran does not.
Ans o
K21
X 3.
X4
Question Type : MCQ
Question ID : 630680252926
Option 1 1D : 630680981685
Option 2 1D : 630680981686
Option 3 1D : 630680981684
Option 4 1D : 630680981683
Status : Answered
Chosen Option : 1
Marks : 2
Section : General Knowledge
Q.1 What is the pathway for the entry and exit of lipid and neutral molecules in an animal
cell?
Ans X 1.Endocytosis
/5 2. Exocytosis
w
#5 4. Active transport
Question Type : MCQ
Question ID : 630680270227
Option 1 1D : 6306801050160
Option 2 1D : 6306801050162
Option 3 ID : 6306801050161
Option 4 1D : 6306801050159
Status : Answered
Chosen Option : 4
Marks : 0




Q.2 Frefieriidh! HIvTeaT VITUMHIGT ‘P THF TGP & AheTT YUaTd el 3182

Ans o 1 macled FfuE
X 2. B faue
X 3. fafeer dfaum
il
Question Type : MCQ
Question ID : 630680270488
Option 11D : 6306801051140
Option 2 ID : 6306801051141
Option 3 1D : 6306801051138
Option 4 ID : 6306801051139
Status : Answered
Chosen Option : 4
Marks : 2
Q3 Freflertid! HIUTRT ASATAT FHAIATHEE Tided-fde™ (community-oriented destination-
development) JSHITT T HIT TV STAHEIRUT 3USHH TRRARIT I fdearaes TRauararst
TEU a0 gegel AIbe (WTM), w4, 2022 I3 T ANTfde QPR el Ter?
Ans X 1 HERTY
il
25 3. oA
X 4. 3nfsem
Question Type : MCQ
Question ID : 630680275494
Option 1 ID : 6306801070488
Option 2 ID : 6306801070487
Option 3 ID : 6306801070489
Option 4 ID : 6306801070490
Status : Answered
Chosen Option : 4
Marks : 0
Q4 FUE=T FHRAFHITER 2001 @ 2011 XRIH HRATAA PITRIT ST FIHEHEIT i &
Haffas gar?
Ans X 1 dog
K 2. 3™
W
X 4. T A
Question Type : MCQ
Question ID : 630680270187
Option 11D : 6306801050000
Option 2 1D : 6306801049999
Option 3 ID : 6306801050002
Option 4 ID : 6306801050001
Status : Answered
Chosen Option : 3
Marks : 2




Q.5 YRATT BT HHR= —ATTHGAT 3T2?
Ans X 1 ged =mayeTet
X 2. fgzada =aryoTet

il
X 4. T WdT BRIk JoTet

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

McQ
630680287344
6306801117286
6306801117284
6306801117283

1 6306801117285

: Answered

Chosen Option :
Marks :

3
2

Q.6 2022 7L, WeHeth! HATAT HRATA A Ufgel! ‘BT THTGR[RT UaTad (carbon neutral

panchayat)’ %[ MfSd FHRUATA 3ATel 38?2
Ans W
X 2. y=<ITee (Dhanwalt)
X 3. %&x (Dehari)
#5 4.7 (Incha)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275522
6306801070601
6306801070599
6306801070602
6306801070600
Answered

3

0

Q.7 Which of the following units is NOT a part of the CPU?
Ans X 1.ALU

5 2. Memory unit
X 3.CU

L

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275900
6306801072111
6306801072113
6306801072112
6306801072114
Answered

4

2




Q.8 Frefteriiet Hroren Hfdunfie guron  fifmmgr Aerfie dweimd OBC ATet TREvT &g
W] FAT 3T ?

Ans o
X 2. 83a7 HfdurfTe gurom  fafTaw, 2000
X 3. 73ar dfdurie gurom  fafem, 1992
X 4. 86ar Hfdurfie gurom  fafiaw, 2002

Question Type

:McQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

630680270484
6306801051125
6306801051123
6306801051122
6306801051124
Answered

2

0

Q.9 Freflertih! D Shtaarar Sd BIoTdT 3M2?
Ans 5 Toradt

& 2. UTdd
X 3.9

v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680270215
6306801050113
6306801050112
6306801050111
6306801050114
Answered

4

2

Q10 2022 e, AT YeAAT 3o fAer0T AvATHTS WIHTIEd B¥or AT Tt STIvATET FIe
TEULT WTcTierdeh! PIuTet ANSTT g bl Aeit?

Ans W
X 2. 98 W@t - 2.0
X 3. Wdt-2.0
X 4. |t §eF - 2.0

Option 4 ID
Status

Marks

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 6306801070789

: Answered

Chosen Option :

:0

McQ
630680275569
6306801070788
6306801070790
6306801070787

4




Q.11 Frefterieh) YoTaT WRATA T AT HIT ATEr?
Ans X 1. @reR A

L
X 3. @IS Hem
X 4. MR HeH
Question Type : MCQ
Question ID : 630680270518
Option 11D : 6306801051260
Option 2 1D : 6306801051261
Option 3 ID : 6306801051259
Option 4 ID : 6306801051258
Status : Answered
Chosen Option : 2
Marks : 2
Q12 Frefteriidt Hrora/d faemm g sma/sma?
A) ST Gt gt faar gAfdarerean Hea R .
B) 1873 W& SAIfdaT Pol Al AIRATeIS HHTST (VT HIHGHaT FHTST) F/ATIH Pel.
Ans X 1 Had A
W
/< 3. e B
X 4. A 31for B A
Question Type : MCQ
Question ID : 630680275934
Option 11D : 6306801072247
Option 2 ID : 6306801072250
Option 3 ID : 6306801072248
Option 4 ID : 6306801072249
Status : Answered
Chosen Option : 2
Marks : 2




Q13 3ifeRIaR 2022 =T feeTa feTariaia ETdterie! BTt U e sma?
1)wafea =TT, IR §Hd T 0T =l guie) yferm ar Q =gt
2)_18 =i frofararad vead 813 2rmet AT, AT [TaR AT Jor B2 Pl arer
AqETETel AIGaT HeATIISITAR YATaUT géeT.
3)=ATIHT T[T i AT 2022 T FATed I AT 3120 HRIH STdT, SATHE YT, THIT
<t P Sguard fder e 2.
4)rT Yferar At | 7d Aisel PV SR YGT WA Ao AT TS SR BIUTRIE! JHAH
B e, TR G fEoTa ITeTvaTeR <& STUTTATART BIVIAE < HROT -, A ATEL

Ans X1 1, 237foT3
X 2.1, 2301 4

< 3.2, 33704
v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275540
6306801070671
6306801070674
6306801070673
6306801070672
Answered

2

0

Q14 Frefetid HroTaT FHISTGUTRBY f8g AT T2t Fever <t AT Bedt BXt?
Ans 1 arfesiaTs Be

K 2. IRmETE e

X 3. e TR

v

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680275321
6306801069796
6306801069795
6306801069797
6306801069798
Answered

4

2




Q15 33 913 TR ot e dwas g Helt gidl.

Ans 5 1 J@Ta
< 2. 7ER
W
X 4. BeAdpar
Question Type : MCQ
Question ID : 630680275911
Option 11D : 6306801072156
Option 2 ID : 6306801072158
Option 3 ID : 6306801072157
Option 4 ID : 6306801072155
Status : Answered
Chosen Option : 3
Marks : 2
Q.16 Ryiezy gawdiaT AT 3@ W1, dt iy e,
Ans X 1 2REIBrIeT (Pteridophyta)
75 2. 9 9T (Angiosperms)
< 3. gfmrferar (Animalia)
i
Question Type : MCQ
Question ID : 630680270199
Option 1 1D : 6306801050047
Option 2 ID : 6306801050048
Option 3 ID : 6306801050050
Option 4 ID : 6306801050049
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 g 2022 wiaear AIEATIR, Wellelid! HUTRT WRAT frbeugar ' od : g 3RS ar
TTftes PTéata &I U U fafod Fuand 3t 3me?
Ans W
X 2. 9f9q dgaa=
X 3. TRa et
X 4. dRe Jgamm
Question Type : MCQ
Question ID : 630680270508
Option 11D : 6306801051218
Option 2 ID : 6306801051221
Option 3 ID : 6306801051220
Option 4 ID : 6306801051219
Status : Answered
Chosen Option : 1
Marks : 2




Q.18 yRa TEHRAT WAL BIUTeT BRI fFERI MRATI e TATHTS ISTHRIRTH a2l #1],

FeAT?
Ans X 1.1921
X 2.1912
< 3.1915
i
Question Type : MCQ
Question ID : 630680275909
Option 1 1D : 6306801072150
Option 2 ID : 6306801072147
Option 3 ID : 6306801072148
Option 4 ID : 6306801072149
Status : Answered
Chosen Option : 4
Marks : 2
Q19 gy fvmriaea T Afger viella amieh ffFdt gent wRvararst 2022 7L, Gielteia! Horr
54 WEHRA Afger W (g™ Jam) fam, 2021 fogfea Fet sméa?
Ans 5 1 e
o
X 3. HERTY
X 4. FAeH
Question Type : MCQ
Question ID : 630680275571
Option 11D : 6306801070796
Option 2 1D : 6306801070795
Option 3 1D : 6306801070797
Option 4 1D : 6306801070798
Status : Answered
Chosen Option : 2
Marks : 2
Q20 wifgdenr fopr  faffam, 2005 wite RGATAR, AfEdien AR 3mded fAwTearar s
oI AT foelt BTeTaEia AfEedt qRaet wfger?
Ans " q UwRT e
X 2.9 fiaw
4
X 4. dod g
Question Type : MCQ
Question ID : 630680275376
Option 11D : 6306801070015
Option 2 1D : 6306801070016
Option 3 1D : 6306801070018
Option 4 1D : 6306801070017
Status : Answered
Chosen Option : 3
Marks : 2




Q.21 gemey fFemamR giear deHid TTciieTiid) BIoTd/PIvTd /e av sme/3nea?
A) it feran grfdareren wmefAre asas Y efl, @ fear gAfdare FreeiR e
B) o aTeifaaTg 3Mfor agufcicar<ar arefd g
Ans X' 1 FazB
X 2. AS e foar B & ATer

o
X 4. A 31for B A

Question Type : MCQ
Question ID : 630680275295
Option 1 1D : 6306801069692
Option 2 1D : 6306801069694
Option 3 ID : 6306801069691
Option 4 1D : 6306801069693
Status : Answered
Chosen Option : 3
Marks : 2

Q.22 Freftertish! PIoTe VR FHotdier Farad ANEHNTST el 1S 31T 3R 3nfor ufer (CBIP)
ars 2022 3 AT PeX Tei?

Ans W
X 2. ¥Rd seifdedpd fafies
X 3. et 3nfoT Jfifes arg weTHES
X 4. TReOT HeITA AfOT faepr e

Question Type : MCQ
Question ID : 630680275489
Option 1 1D : 6306801070468
Option 2 1D : 6306801070470
Option 3 1D : 6306801070467
Option 4 1D : 6306801070469
Status : Answered
Chosen Option : 3
Marks : 0

Q.23 gifgdten fasR  fafiaw, 2005 =41 BT BerHId Wi IS HRUAIRGT TR (Y2)' e
ool 3R?

Ans ,.;r
K 2. B9
X 3. PcH 10

K 4. BanT

Question Type : MCQ
Question ID : 630680275340
Option 1 1D : 6306801069872
Option 2 1D : 6306801069873
Option 3 1D : 6306801069874
Option 4 ID : 6306801069871
Status : Answered
Chosen Option : 1
Marks : 2




Q.24 2011 =T FTVHTAR, BIOTT ISATd T[T STHTGT (ST) Heam Faffirs 3me?
Ans o 1 f3ER

X 2. IR TR
W
X 4. ATy
Question Type : MCQ
Question ID : 630680270191
Option 11D : 6306801050017
Option 2 1D : 6306801050016
Option 3 1D : 6306801050018
Option 4 1D : 6306801050015
Status : Answered
Chosen Option : 3
Marks : 2
Q.25 Freftertidht HY0T Qrau ATaTe AEHIeIebT feifgelt Bl ?
Ans % 1 ST QRS
2% 2. fosuggar serEmt
i
X 4. ITBATAT STHBR
Question Type : MCQ
Question ID : 630680275305
Option 11D : 6306801069734
Option 2 1D : 6306801069732
Option 3 ID : 6306801069733
Option 4 ID : 6306801069731
Status : Answered
Chosen Option : 3
Marks : 2
Section : General Intelligence
Q.1 1 . .
‘H{A<ATSAT=AI ElliaEF 125% azlﬂ ﬂaa@lél Tk IEEFH2EIE"F|FII 8,250
TAHT AT, USHT INTHSY WIS fohdl R?
Ans W
X 2.%1,650
X 3.3910
X 4.%1,700
Question Type : MCQ
Question ID : 630680287986
Option 1 1D : 6306801119853
Option 2 1D : 6306801119851
Option 3 ID : 6306801119854
Option 4 ID : 6306801119852
Status : Answered
Chosen Option : 1
Marks : 2




Q.2 z9/kg fFudiit febell fpeaiin AR ¥7/kg fhadl=aT 27 kg AL ARGl UIfES, SOYhwT
fAsro 29.24/kg &M fagT 10% 6T fAeg 2rbea?

Ans
X 2.54 kg
/< 3.36kg
X 4.42kg
Question Type : MCQ
Question ID : 630680287317
Option 11D : 6306801117178
Option 2 1D : 6306801117177
Option 3 ID : 6306801117175
Option 4 ID : 6306801117176
Status : Answered
Chosen Option : 1
Marks : 2
Q.3 gopT gt faeh febma foeam @Rl fFwdtear 96% 312, THUT et fobar TwrTet eadsand 2T,
Ans 5 1. 4% THT
5 2. 2% BT
X 3. 2% drer
W
Question Type : MCQ
Question ID : 630680287331
Option 11D : 6306801117232
Option 2 1D : 6306801117234
Option 3 ID : 6306801117233
Option 4 ID : 6306801117231
Status : Answered
Chosen Option : 4
Marks : 2
Q.4 gysit quinTaTRATR MR ThT aBigaR BKRS & DNPP 2ff Weftd 31, e da6iqar LPVK §
NSTH it Haiftid 3118, @9 dfd  FHR0T BT, UOIE § Welietd! w2mef wefdd 3me?
Ans "
X 2.XLHB
2 3.XLFC
X 4. WKHB
Question Type : MCQ
Question ID : 630680278563
Option 1 1D : 6306801082537
Option 2 ID : 6306801082539
Option 3 ID : 6306801082540
Option 4 ID : 6306801082538
Status : Answered
Chosen Option : 1
Marks : 2




Q.5 321 g1 TG 20% STeTg I BR TTeaa). ATTE THFFFATRE ThTa dabt goard el gor
gdam, ared derht HR faaset 3for e @ 2 a9 9 1. SR AE TET 381 fwedten
TIEIet 30T GRATR 7 fEoeil R @R 150 km A, a¥ d2ET AT 20T,

Ans X 1.20 km/h
w
X 3.18 km/h
&K 4. 24 km/h
Question Type : MCQ
Question ID : 630680288019
Option 11D : 6306801119985
Option 2 ID : 6306801119986
Option 3 ID : 6306801119984
Option 4 ID : 6306801119983
Status : Answered
Chosen Option : 2
Marks : 2
Q6 A, B3fiTCETFHM Feh 15, 10 30T 30 feawria &% 2wara. & fora=a fazht B 3nfor C
il Hed Baeurd, A fohdl fEaaia @ B &% 2APa?
Ans
X 215
X 3.12
X a6
Question Type : MCQ
Question ID : 630680288034
Option 1 1D : 6306801120044
Option 2 ID : 6306801120046
Option 3 ID : 6306801120045
Option 4 ID : 6306801120043
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 gyeft qufrrgar A feiean wifeidsd (?) =am Sl &/ 30Te uifger?
RX, YB, ?, MJ, TN
Ans X 1.FE
X 2.GE
< 3.GF
L
Question Type : MCQ
Question ID : 630680276903
Option 11D : 6306801076108
Option 2 ID : 6306801076110
Option 3 ID : 6306801076107
Option 4 ID : 6306801076109
Status : Answered
Chosen Option : 4
Marks : 2




Q.8 fEeel fawm snfor fispy wargde aran. i feiel wifgdt & amamuoy rd qeaider amet
T 3Tead, a8 O T 38 A eI 1A, Reiean frspufidt proran fips fetear
faremaieht adTa 3me/3med § S

foam:

T WG TTUeIed 3Ted.

| FUeT 2SHINT 31T

fep:

(I): FTE AU TSHIT 37T

(Il): BT dUerey MaTSed 3Me.
X 1. st (1) foba (11) S4BT Tapet adsaiTa ATel.
X 2. T frsw (1) adbad 3R,

o
X 4. wad sy (1) adbea 3R,

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680287377
6306801117417
6306801117415
6306801117418
6306801117416
Answered

4

0

Q9 wrefler  gR-AgEAT Asaiid! diF fafere THR T 3Mad foT U Us TTe 9aR Fard. @1
TeTd 7 qHUTR  eR-\Hgie Sirel fAasT.

< 1.JH-DA
v

X 3.XV-RO
X 4.Q0—KH

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

Marks :

McQ
630680276708
6306801075330
6306801075328
6306801075327
6306801075329
Answered

2

2




Q.10 SR Uil TepaTe TSI a1 10% e e auidrdt 8,000 AT I Pof Bdel, AR Bol
ISt S aufea Adel fadT WRId Ao} Ty fhdl Aer?

Ans .,,f
X 2..%1,02,400
< 3. 39,600
< 4.38,800
Question Type : MCQ
Question ID : 630680287993
Option 11D : 6306801119881
Option 2 1D : 6306801119882
Option 3 ID : 6306801119880
Option 4 ID : 6306801119879
Status : Answered
Chosen Option : 1
Marks : 2
Q1M fEtear  gR Hifcidan e =T o1 AR fEeten WA 3TR .
(S UAQCOBLDIMEWFZTYSPKG X (35)
A 2ft Bt FioM 3R, SATUD! TAPBAT diasdid M T TR AdT 107 drasald a8 &l
TP WR IAI?
Ans X1d
il
X 3.ad
X 4. UEwE ATE
Question Type : MCQ
Question ID : 630680273238
Option 11D : 6306801061498
Option 2 ID : 6306801061495
Option 3 ID : 6306801061497
Option 4 ID : 6306801061496
Status : Answered
Chosen Option : 2
Marks : 2




Q12 7 uTEy WEAuvr  JebH 20 AT MTOT 30 AT Teh BT HRG ABATd. P! HITATHTS 6l Ursd
T Bl ST U THYET 1/3 HITT HITER, Y 118 TN, ST el UTSCHHYA YRaaT EIoT=T

TTUTET 1/3 HITT STER YSdl. el HRUATHATS! THUT fielt I A ?

Ans ,.;r
Ko2.12d9
X 3.36d9
X 4.26 a9
Question Type : MCQ
Question ID : 630680288046
Option 1 1D : 6306801120092
Option 2 1D : 6306801120091
Option 3 1D : 6306801120094
Option 4 1D : 6306801120093
Status : Answered
Chosen Option : 4
Marks : 0
Q.13 R 16 ARl fFad 2144 I, @R 23 AHEGr! fhad oot Ja?
Ans W
X 2.3227
X 3.%197
X 4.3247
Question Type : MCQ
Question ID : 630680287295
Option 1 1D : 6306801117088
Option 2 1D : 6306801117089
Option 3 1D : 6306801117087
Option 4 1D : 6306801117090
Status : Answered
Chosen Option : 1
Marks : 2
Q14 gl eR-AwgieaT sisaitd! diF fafe THR TaME 3 3nfoT U T Te qaR Hdrd. T
T 7 qHUTR  &R-Agi Sirel (RSt
Ans X 1.HI-KL
X 2.RS-UV
X 3.CD-FG
v
Question Type : MCQ
Question ID : 630680276713
Option 11D : 6306801075350
Option 2 ID : 6306801075349
Option 3 ID : 6306801075347
Option 4 ID : 6306801075348
Status : Answered
Chosen Option : 4
Marks : 2




Q15 figiett wifcre aifhagsen i FRvaTaTst HeAfdmgre (?) St w1 e uifEer?
AWS5, DU10, GS17, ?

Ans X 1.JJ26
X 2.YZ28
w
X 4.Jv28
Question Type : MCQ
Question ID : 630680276700
Option 11D : 6306801075297
Option 2 1D : 6306801075295
Option 3 ID : 6306801075298
Option 4 ID : 6306801075296
Status : Answered
Chosen Option : 3
Marks : 2
Q16 SR+ U~ A, ~ WU X A, % WU <+ A 30T+ U+ [, R e
THIBRUTHE FRAfRETEAT (?) STt A3 ABUIRT ygig st
34x2+6+12=7
Ans X 1.28
X 2.24
v
X 4.29
Question Type : MCQ
Question ID : 630680272930
Option 11D : 6306801060282
Option 2 1D : 6306801060280
Option 3 1D : 6306801060281
Option 4 ID : 6306801060279
Status : Answered
Chosen Option : 3
Marks : 2
Q.17 gopT HRA THOT 600 km AT FeAT. T qelIgizl ar 60 km/h I IR e, R 3dRa a% 90
km/h A IR Fet. R TY0f "aR IR FRUATATS ARTOTRT A fobelt 3182
Ans X' 1. 55d
XK241dw
X 3.64d9
i
Question Type : MCQ
Question ID : 630680288010
Option 11D : 6306801119948
Option 2 1D : 6306801119947
Option 3 1D : 6306801119949
Option 4 ID : 6306801119950
Status : Answered
Chosen Option : 4
Marks : 2




1 o o 22 TR g, wororatie e Rt e 2

IHHLTel dlel gidl. i a%q 21,265 fbadM fddbery, giuman w1 fdhal

dicardl cahar| fabdl e 2
Ans X" 1.20% BT
X 2.20% drer
X 3.10% drer
L
Question Type : MCQ
Question ID : 630680287327
Option 11D : 6306801117217
Option 2 1D : 6306801117218
Option 3 1D : 6306801117215
Option 4 ID : 6306801117216
Status : Answered
Chosen Option : 1
Marks : 0
Q19 eyl wiferest aTfbegrean qof Ervarardt (?) =a1 sini B 3T afger?
F315T, H323U, ?, M339W, P347X
Ans X 1.P331V
X 2.K331U
X 3.P331U
L d
Question Type : MCQ
Question ID : 630680276911
Option 1 1D : 6306801076140
Option 2 1D : 6306801076141
Option 3 ID : 6306801076142
Option 4 1D : 6306801076139
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 feyear Arfeidha WRATRETEAT (?) SNt WicieTih! BIoTdT AT IS ?
14, 28, 30, 60, 62, 124, 126, ?
Ans X 1.260
X 2.224
L d
K 4.236
Question Type : MCQ
Question ID : 630680279223
Option 11D : 6306801085160
Option 2 1D : 6306801085162
Option 3 1D : 6306801085161
Option 4 ID : 6306801085159
Status : Answered
Chosen Option : 3
Marks : 2




Q.21 gyt quigTaR 3mTfe FTWAFAR JNSX § GKQV @it fifeie yeR wefed 3. amemsR, WOLK 3

TLJI 2ft Heifead 3178, TR W dHTHR Gidtad! B RYME 2f wdfoa Ja@?

Ans X 1.PVKC
W
< 3. PWLB
< 4. 0WLD
Question Type : MCQ
Question ID : 630680273577
Option 11D : 6306801062828
Option 2 ID : 6306801062830
Option 3 ID : 6306801062829
Option 4 ID : 6306801062827
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 el farum 3nfor fispe wargde aran. ferermived fRetel wifedt & amamaoy Ard qeaider dmet
T 3Tead, a8 O T 38 A eI 1R, e frspufidt prorana fises fetear
faremAieh ddhTa 3mR/3med o 3.
feram:
BTEN ST, JeT 37T
PTEr 3T, Rfeaw 3med.
Uepe! Rfeam, sARE TEl.
fisp:
(1) e} a1, SURE ATEL
(1) BE) 3T/, SARCY 312d.
Ans X 1. ot Y (11) Tt 3R,
v
X 3. wad sy (1) T 37TR.
X 4. B (1) 37fOT (11) & St I 3R,
Question Type : MCQ
Question ID : 630680279115
Option 11D : 6306801084738
Option 2 ID : 6306801084739
Option 3 ID : 6306801084737
Option 4 ID : 6306801084740
Status : Answered
Chosen Option : 3
Marks : 0




Q.23 & BUAT: (-1) {(-5) + (-25)} * (=7) — (8 — 10) (=4).
Ans X 1.192

K 2.198
i
X 4.-208
Question Type : MCQ
Question ID : 630680287279
Option 1 1D : 6306801117024
Option 2 ID : 6306801117026
Option 3 ID : 6306801117025
Option 4 ID : 6306801117023
Status : Answered
Chosen Option : 3
Marks : 2
Q.24 e Aifeicha HRATRETEAT (?) SR ST 3T UTfeei?
4,9,19,39,79,?
Ans X 1.141
i
X 3.145
X 4.163
Question Type : MCQ
Question ID : 630680276810
Option 1 1D : 6306801075735
Option 2 ID : 6306801075738
Option 3 1D : 6306801075737
Option 4 1D : 6306801075736
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 5% 20 79 56 m @i T fild 6 feawia iy 2rpard, av 35 TH 3 fawia qema yeww=ar fadt
Wit fifd iy ereFara?
Ans X 1.56m
L d
K 3.36m
K 4.44m
Question Type : MCQ
Question ID : 630680287303
Option 11D : 6306801117122
Option 2 1D : 6306801117121
Option 3 1D : 6306801117119
Option 4 ID : 6306801117120
Status : Answered
Chosen Option : 2
Marks : 2




